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1 | Which of the following is an ordered 2 |\ IfA={a,a,}and B ={b, b,, b, b,},
pair? then A xB is equal to
(a) (p.q). p EPandq €0 (a) {(a,.b,).(02. b))
(b) [p.ql.p €Pandq €0 (b) {{ay,b,)(a,.b,) (a5, b3 (asb )
(c) {p.q}. p €Pandq €0 (c) fla, b )layb,)la, bylayb,)
(d) All of the above (d) (@b ). (ay.b,) (@b sh(0y.b ) (a0 ) (a5, ,),
(02,0 3)(05.b )}
3 | The values of @ and b, if ordered pairis | |4 |If A = {1, 2 5 6} and B = {1, 2 3}, then
(2a =5,4)=(5 b +6) what is (4 x B) N (B x 4) equal to?
(a) =2.5 (b) 2,5 (a) {(1.0,2.0.(6.0.(32)  (b) (1.1).0,2),(2,).(2.2)
(o2 (d) 5,-2 (c) {0.2.2) (d) {11.0.2).(2,5). (2 6)
S | IfAx B ={(a1), (b 3), (a, 3), 6 1 If4={1,2,3,4} and B = {5, 6, 7, 8}
(b, 1), (a, 2), (b, 2)}. Then, A and B is then which of the following are
(a) A={13,2}andB={a,b) relations from A to B?
Ern et
c) A={a,b}andB={12,
; ' o (b) R = {(5, 2): (31 7): (l{‘ 7)]
d) A b, 1}andB={0,b.2,3
EHaslhladR=nae (c)Ry=((6,2).(3, 7). (4, 7)
(d) All are correct
7 | Let n(4) = m and n(B) = n. Then,‘the 8 | Let A = {a, b, ¢, d} and B = {x, y, z}. What
S e By e Tl o is the number of elements in A x B ?
that can be defined from Ato Bis (a) 6 (b) 7
(a) m" (b) n™ =1 (c) 12 (d) 64
(c) mn-=1 (d) 2™ =1
9 | If a relation R is defined on the set Z of | 10 | If 4 = {1, 2, 6} and R be the relation
integers as follows defined on Aby R ={(a,b):a€A,b€EA
(a, b)) ER & a” + b2 =95, and a divides b}, then range of Ris
then domain (R) is equal to f?‘?go ) 2.6}
(a) {3,4,5) (b) {0.3,4,5) at '
(c) {0+ 3 +4,£5} (d) None of these (c) 1. 2, 6] (d) None of these
11 | The domain and range of the function |12 | The domain of the function Vx2 — 4 is:

f given by f(x) =2 -|x - 5|is
(a) Domain=R™, Range =(-¢o,T]

(b) Domain =R, Range =(-=,2]

(c) Domain =R, Range =(-=,2)

(d) Domain=R™, Range =(-,2]

(@ R

(b) [-2, 2]

(€ R—(=2,2)
(d) [0, 2]

1|ISWK/XI/Dept Of Mathematics/Relations and Function/26/05/2024/J01J1




13 | LetA={1,2,3,4}and B ={1,4,9, 16,25} 14 | The range of the function %x * 4 s
and R be a relation defined from‘A to B, a) R
as R ={(x,y):x€A4,y€Band y = x°}, then b) {-1,1}
domain of Rand codomain of Ris 0) [_1: 1]
(a) {1,2,3, 4}and {1, 4, 9, 16, 25} d) None of these
(b) {1, 4,9,16, 25}and {1, 2, 3, 4}
(c) {1.2, 3, 4}and {1, 2, 3. 4, 9, 16, 25}
(d) None of the above
15 | Is the given relation a function? 16 | Domain of «/a? - 2 (a>0)is
[(33 3)3 (41 2}1 (5? 1)5 {61 ())‘ {73 7)} [a) {‘G;U] {b} [_U,U]
(a) Yes (bJNo (c) [0.a] (d) (-0,0]
(c) cannot say (d) Insufficient data
17 | The graph of an identity function on Ris
Y y Y Y+
6 6 61 61
4 4 4 4]
2 2 21 24
: —X xI{_é _:1_ _ég} : 4 6 X X' & 4 é_z,.oé 4 E Paex 6 4—5_2‘_ 2 4 6
P 4 4]
. 61 61
vl ¥ .

18

IfA={1,3,6}and B =

an arrow diagrams of 4 - B is

{x, y}, then representation of cartesian products by

W

[#3]

==
(==) (=

e The answer will be discussed during the math lesson
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